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Question Number : 1 Question Id : 51714411111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What does "learning environment" refer to in the context of education?
&m&éoém&e@ﬁ "ol ararddnin” el 3

Options :

The physical location of an institution.
;’;oé sy &8

1. %
The number of students in a classroom.
5 % S55a65) chrtgi%}t: o8y
The arrangement of furniture in a classroom.
SBKHS DESB esndY
3. ®
The overall context in which learning takes place.
4 CIALNSENY 2260 Bwdgsn S [elaleNtany

Question Number : 2 Question Id : 51714411112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Postgraduate education falls under which level of teaching?
FSEEE Dy @ HB G %;on:tfiﬁ &0EN0H

Options :



Elementary education
[ERHanE D3

Secondary education
E_':Dgéf'édﬁa Alaly

Tertiary education
v éﬁj@@ﬁj D

\Vocational education
4 % aﬁﬁ 3]655

Question Number : 3 Question Id : 51714411113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

In offline teaching, where do most interactions between students and the
instructor occur?
58S S5sst, &m@ﬂjﬁ}m S el HBNG Sgen aih ?g@{}

Options:

Virtual discussion boards
. ééﬁé@ oy ﬁﬁéoﬁr;}:n

Online chat rooms

5 % ©BOBS Fo8 Kithen



Social media platforms
sl Setigan S6%en

Face-to-face in the classroom

4 SBKS KBS Sogre S0

Question Number : 4 Question Id : 51714411114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

What is the primary focus of SWAYAM Prabha ?

29aDo (547 @BnE) (GrEans S\ 2B ?

Options :

Offering degree programs online.
©88:58° B seEgEsne H8TES

Providing paid specialized courses.
300D HegE Enen domEn Jcsned

2. %
Broadcasting educational content through TV channels.

3 ¢ 8 ort) oxoe Doy DAY, (Hdo Safnes
Conducting in-person workshops and seminars.
Sgohore Stnakaen, HEnen JBerodi

4. #

Question Number : 5 Question Id : 51714411115 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Online quizzes, interactive simulations, and virtual labs are examples of:
©R88 HEen, HBHB eEsnen, SENPS (HArtTon B8 Guesedn

Options :

Traditional teaching methods
Foloeahy Ssar HGeen

1. F
ICT-based assessment tools

5 ICT- esprBe8 3000 DAY
Qutdated educational technologies

3 & S00T0BY Doy FoB8ESen
Non-interactive resources

4 % ‘a’naﬁéﬁéiﬂ Syatien

Question Number : 6 Question Id : 51714411116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Experimental research involves:
(D& 58858 edm

Options :



Observing and describing phenomena without intervening
éﬁééo 088 o iﬁE}E DAce HB8ed DRGs

Manipulating variables to establish cause-and-effect relationships

5 @ o8 (DR Domopredh Dogrobohi® Jemodeid Eavlet) Scsnes

Conducting surveys and interviews to gather opinions
wdgrch DESHD ﬁéé@b, z068m5en DBIerone

Analyzing historical documents and records
4 % TOEg)E dero, bsho A

Question Number : 7 Question Id : 51714411117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Post-positivism in research suggests that:
HBEEHE° By Aredded GrdoHds

Options :
Objective truths can be directly accessed without the influence of human

perception.
Qe garsd derei,dirdd (e €8 8o [De&sEore 366’35}&@.

1. %
Subjective experiences play no role in shaping research outcomes.
- 588080 Hhare Eﬂﬁééﬁ}gﬁa@ﬁ HFars ehifare aklE Gotkth

3.v¥



While objective observation is important, researchers’ interpretations also
matter.

QeyBares 5886 sy, 508550 DHBemen il araingge Hararon.

Research should solely rely on abstract theories rather than empirical
evidence.

508558 CINVARRY Lo i‘vgvgc“:’m_;',_} 58060, wo|ise ?;}mgoﬁﬁ@_;’g il
4 % OGPEHTRD.

Question Number : 8 Question Id : 51714411118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

In academic writing, plagiarism refers to:
QG5 Vo0 SS508® nRirBa0 @b

Options :

Using too many references in a paper
28 ajnéﬁa’méﬁ TPEP GTIPaPOETS) Ga)aiPiian

1. %
Quoting a source directly without citation
) o wHBpHo sor (DegEore HHD °tHe

Rewriting someone else's work in your own words
3 % add e HAD A ﬁéﬁéémﬂﬁﬁ SOA (Iecinéd

Properly citing sources to give credit to the original authors

. oden e TErHd SHhed S0 6oroohe
4,



Question Number : 9 Question Id : 51714411119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

What is the typical order of sections in a research article?
2.8 HB8 8 ajnac}f:foéﬁ Derereen Heasreen (B50an 8.

Options :

Methods, Introduction, Results, Discussion, Conclusion, References
a’:utge‘_‘i}m, HBBAHEm, HDeren, Yy, HoHo, Ef_ia:ém

Introduction, Methods, Results, Discussion, Conclusion, References
HBBcHam, éféeiéom:u, PDaren, ), dohoD, ﬁtﬁm?ﬁm

Introduction, Conclusion, Methods, Results, Discussion, References
HBBcHEm, dwhod, égéﬁm, POaren, Y, é;gia:c‘(a@:]

Results, Methods, Introduction, Conclusion, Discussion, References
HOaeen, ﬁtge‘ﬁne_n, 2bSahen, Hwhoc, KB, ﬁ;ﬁa}a‘ﬁﬂ}

Question Number : 10 Question Id : 51714411120 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

What is the purpose of the "Acknowledgments” section in a thesis?
?:mgcué aﬁéf:«:ﬁ}meﬁﬁ é@é@éﬁ} Derldn ©SH830N

Options :



To list all the references used in the research
588055680 éﬁg}é@ eflem SO DSSnd

1. %
To introduce the research methodology
5 % 588858 588 HBIScho Bsne
To acknowledge and thank individuals who contributed to the research
5888555 5%;1&33 é@éj@otﬁﬂé 1800, Hgruren dend)és
3.
To present counterarguments to the research findings
4 % $568%5% pDErer ) (HDHEreOTSHe Sfovnios
Sub-Section Number : 2
Sub-Section Id : 517144454
Question Shuffling Allowed : No
Is Section Default?: null

Question Id : 51714411121 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Allowed
Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval
to replay(In Seconds) : 0 Allow Volume Control : No

Question Numbers : (11 to 15)

Question Label : Comprehension



Note: Answer the questions 11-15 by reading the following passage:
K&oE: (Botd mi@id ddrardo sgrdore Q. 11:506 Q 15 D& Jsrgraron

[arahob.

The mansion of Ebenezer Storer, an extensive edifice of wood three stories in height,
was erected in 1700. It was situated on Sudbury Street between two trees of great size
and antiquity. An old English elm of uncommon height and circumference grew in the
sidewalk of the street before the

mansion, and behind it was a sycamore tree of almost equal age and dimensions. It
fronted to the south with one end toward the street. From the gate a broad walk of red
sandstone separated it from a grass-plot which formed the courtyard, and passed the
front door to the office of Mr. Storer. The vestibule of the house, from which a staircase
ascended, opened on either side into the dining and drawing rooms. Both had windows
towards the courtyard and also opened by glazed doors into a garden behind the house.

2836 P66 Ging) o, Hurth wodii IHS KrsS DIBHS ¢fisko, 1700 &°
ABposatod. a6 $60b @éfe‘iﬁ Both Y Joedd By gy sob.gPSo Fwotd 58
SDered® oFrinds o) HBch HipSed EOAS and @of Jf) 3ty Bbrap
B =) o8 Tror) Darn Schi) Hodn Seoden DAY 28 &) 36 58
058 B8m0 SHre Sofod. N H08 B =NETonS’ ErES dTeDS SKE arh,
RE 28D b, SIJTEE 5555 SO Enoth e 3653;)@“0)3. 508 Hakoe
(88 ok Héy 3ndB GIoR B ([Gronoh Erows™d adEder Dison.
00688 DBSD) aakey 6I200. SAh Senden oo 50} 8 68 sheea
%o &ob.

Sub questions

Question Number : 11 Question Id : 51714411122 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion of Mr. Ebenezer Storer is old and
SJJQE AR 8] ﬂ‘ﬂ;ﬁﬁ :ﬂa;é@r o arsh Hbatm

Options :

stately
KoDBH6.
1.4 e



in ruins
BB OING

uninhabitable
K}aﬂmﬁﬁﬁéo 506

inhospitable
4 % ©8BOSIG

Question Number : 12 Question Id : 51714411123 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The mansion was built of
EafnTale) &b Eﬁé@ém&o&

Options :

red stone
1. % o8 Teom

sand stone
. =¥ Teon

wood
Eﬁé@,

stones
U“Eﬁ;}



Question Number : 13 Question Id : 51714411124 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The courtyard is filled with a patch of
e N0 B & Dol &od

Options :

grass
g

wilderness
65?55:&50

low trees
D) ey

flowering pots
arey Byotsen

Question Number : 14 Question Id : 51714411125 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The staircase opened into on one side.
el 3 &) Dép &8 éﬁ:&@ﬂeﬂ.




Options :

garden

1. % e

courtyard
, % [(@rofeso

dining room

3 ¥ Hhasamer 16

office

4% sno‘jﬁg@cﬁjo

Question Number : 15 Question Id : 51714411126 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The word that means- ‘wide’ in the above paragraph is
2 aoes Dol o ©go a’;ﬁgj 250

Options :

Extensive

| B

circumference
ffaé:g%”@e‘ﬁ

2. %

dimension
3 % BP0



uncommon
ChvEnEe [ v

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Is Section Default? :

3
517144455
Yes

null

Question Number : 16 Question Id : 51714411127 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A communication prevents misunderstandings and helps in

establishing a constructive relationship

VRS oarTzol Jardiiod SHidn Jogmrd)E Somoged) DB\BSt0S®

RartChHthenoh.
Options :
positive
1 ¢ FeioEee
passive
5 % Jlepcd
reflective

L x 6B 085585 ¥rlis

retentive
4 % oedes E8 He



Question Number : 17 Question Id : 51714411128 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Lack of effective skills is a major barrier in the teaching-learning
process.
ARt 9T BHBaHe® (Hped ©86%50 ﬁa’)ﬁgéoé@é
Glfvtnte
Options :

stress management
2,88 JBres

listening
DVEE JFadesgo

crisis management

K:uogﬁﬁ QBgsTes

time management
2enad ABeE5ees

Question Number : 18 Question Id : 51714411129 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Successful intercultural communication depends greatly, when one
other cultures.
=t ﬁoﬁg&é}@:@ &oiiéo Hon, @Deﬁé&@f}g@,& Hogres @tinbEen

Boee Frdod

Options :

praises
1 % (2808

respects
2. faigstle)

practices
LIty

helittles
Eﬁ@ Sy

Question Number : 19 Question Id : 51714411130 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

When different people look at the same thing differently, leading to ineffective

communication, it is called barrier.
3’5563 sSgghen 28 AT DPyore L, o SH Siraroeis
m&@?&é@é}, R @08 wotrth
(]
Options :

Psychological
1% BB



physical

, % &8

emotional
w.ﬁa{:ﬁéﬁ

perception

J"I'EI
4V SNIPaTR

Question Number : 20 Question Id : 51714411131 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Twitter' and ‘Linkedin’ are examples of media
‘ﬁé&]ﬂg’ 0Bcw '@0%5 : SrggEr8 Greietesen

Options :

social
STy

digital
&Bees

Print
s0o(Bes

Traditional
R0TPCNE DR



Question Number : 21 Question Id : 51714411132 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0
5, 10, 40, 240, 1920,
Options :

| % 19020

19200

19220

21120
4. %

Question Number : 22 Question Id : 51714411133 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

DMP, IOM, |, SS5G, XUD
Options :

1. % MPI



MaQl

2. %
~ NPJ

3. %
NQJ

4. ¢

Question Number : 23 Question Id : 51714411134 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

In a certain code language if the word KITE is coded as 4567 and the word
RATE is coded as 8967, then how is the word TAKE coded in that language?

2.8 03) 6 A&’ KITE % HmR) 4567 H0A RATE eF ST
89671 §°6 T W, & 2 TAKE 0% N er 86 Tl

Options:

| 6974

, i 6794

6479

6947



Question Number : 24 Question Id : 51714411135 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Two numbers are in the ratio 2:7. If each is increased by 12 then the ratio of the
resulting first and the second numbers would be 1:3. The second numberis___

DO oL 2.7 DAIBES e ow. (e 2,563 12 DoV S,
HOSOM J0¢5e3 OO B0 AOWES NS 1:3 e26he0R. DO
QoRE_?

Options:

84

o 112

. 126

o 168

Question Number : 25 Question Id : 51714411136 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

If the cost price of 16 articles is equal to the selling price of 12 articles, The gain
percentage is
16 360) 8%y ¢ 12 505 @625 HEH DSTH0 eoN®, e7e

¢

Feh0



Options :

| % 16.66%

20%

25%

33.33%

Question Number : 26 Question Id : 51714411137 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Statements:

All hills are mountains.
Some rocks are mountains.
All rocks are ropes.

o8 Edcden:

FoBO) DG,
') doen b [Eren.
Conclusions:

l. All hills are ropes.

. No hill is rope.
1. Some ropes are definitely hills.

BT JTeN:

. SoBO) =T.

II. 2 §0cs S = 5.

1. Q) & ) JS0m Fodsen.

Options:



| follow

Either | or |l follow

2_ W
Il follow
3.
4 Either Il or [l follow.

Question Number : 27 Question Id : 51714411138 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

In a class of 10 students, 110 students passed in chemistry and 120 students
failed in Maths, 30 students failed in both the subjects. How many students in
the class failed in at least one subject?

10 00 Derztend) SEKReS” TR 110 H08, HedesoS’ 120 HOA
D sHen oneair i, o Kj@&gff 30 DOO DT EeD

20NOAT . HEHBES” 05D Dsen N0 2.8 PP
OO0 LR?

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

120
1.



160

3 140

4 180

Question Number : 28 Question Id : 51714411139 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

How is my father’s father’'s only daughter-in-law’s brother related to me?
S 90 28RSy, 58 35038 5L arogdyo Da0e3?

Options :
Father
1. % el

Paternal Uncle

5 T‘;Jﬁﬁa&vﬁ&
Maternal Uncle

3 ¢ éﬁéjdﬁ}g
Cousin

. % K85



Question Number : 29 Question Id : 51714411140 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is not correct with reference to anumana according to
classical Indian school of logic?

P

8O ROG0H® AL @3 e85 [D5E0 BHEPTIE H0DOOOT) &
1808 &3S HBIO TR DO?

Options :

Linga/Sadhana is the middle term
DoRPSH @6 &0gls S0

Paksa is the minor term
28, e é‘.ll?ﬁcl D50

Sadhya is the major term
3 % WP @30 BHerd H%o

Hetu is the minor term
P @36 &Eécl S50
v

Question Number : 30 Question Id : 51714411141 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which one of the following is true with respect to the first figure of categorical
syllogism?
5085 T0E) FncheEs @0TH H0220H0D & 1208 TBS A Hesz0?

Options :

The middle term is the subject of the major premise and the predicate of the
minor premise
D D0 VA DT [Hababho TBE) 9040 HOOL D) essd8ea

| AB0EY, |raredSo

The middle term is the predicate of the major premise and subject of the
minor premise
20658 D0 A DY) [Habdhbo TINEY (DT 365856 oDOO5D N6

, x OB0E) [rareso

The middle term is the subject of the major premise and the predicate of the
conclusion

- 0G5 DB0 OO DTN eTE0 HOGW SN0 TBE), ©0F0

The middle term is the subject of the minor premise and the predicate of the
conclusion

0E: N0 RO DY) Habdho HO0W SN0y ABwE) @0%0

4, %

Sub-Section Number : 4
Sub-Section Id : 517144456
Question Shuffling Allowed : No

Is Section Default? : null

Question Id : 51714411142 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
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Note: Answer the questions Q. 31 to Q. 35 on the basis of the information given below.
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In an University, the strength of male students is 1500, Female students is 1200
and Faculty is 250. The distribution of percentage of strength in various subjects are
given in the following barchart.

2.8 D3 Az0H0, Hff Ao Sow: 1500, Haree e Hop;
1200 005 2r556) 250, D5 HTHOS 58 P50 9023 1808 2rETES

R0 SDBOA.
Chart Title
30 T
25 = 22 ?_2
20
15 1212
10 I I 8 il
. I I I
& ¥ & & &
LA B A B A
? @ AP o s® &
G I N 5
& W

BFfaculty MFemalestudents @ Male students
Sub questions

Question Number : 31 Question Id : 51714411143 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the maximum?
808 ¢3S HBRN0 DO?
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Number of female students in chemistry department
| % SR derrosS e dorshe Sows



Number of female students in Botany department
5 ¢ T Jeriiody Sdrer dersthe dows

Number of faculty teaching Management

, x DL DO B3DOR 53R Howdg

Number of male students in chemistry department
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Zoology students pay an annual fee of Rs. 25,000 each. The average salary of
each Zoology faculty member is Rs.10,000 per month. What percentage of the
fees collected are paid towards salary for the faculty?

23068 T (2Pare)2d) doriden 0% e Gr. 257,508 25,000. (e
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What is the ratio of the number of students taking Maths, Physics and chemistry
to that of students taking Botany, Zoology and languages, after rounding off the
respective totals to nearest 1007
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In which Department is the ratio of faculty to students, the lowest?
ETEHEIO DD VT shedr DA & V2P0 eoehser Y0P &0A?

Options:
Botany
Chengistry

2. Sl
Language

3 % CARAY

None of the above
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If 25% of the faculty members teaching management are absent for a particular
academic year, then approximately how many faculty will be available for every
batch of 40 students of Management in that year?
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ASCI| stands for ?
o). GoR.P.5.0 &b
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v American Standard Code for Information Interchange
American Standard Code for Information Interaction

American Standard Computer for Information Interchange

American Standard Computer for Institutes Interaction
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........ is a private network within an organization.
& BIDD HoPS® b (RIS IEDGY

Options :

Internet
‘|. E

Intranet

3 % Ethernet

. Hypernet
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e-Granthalaya is a digital platform developed by the ........
a-foprecir 826 308 Sairth 350
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Ministry of Education
g $00(@E0

Ministry of Finance

) @gé oo (@&

Ministry of Electronics and Communication
3 v JelgelEY), éa’mﬁgﬁés’ﬁﬁn oolB&o

Ministry of Mines
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RAM means ........
TPal &Mre
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Random Access Memory
1.¢

Rapid Access Memory

3 % Remote Access Memory



4. * None of the above
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Which is an example of a cloud-based file storage service?
8155 706 DO o eagedSs %?T:rﬁ& 5% GoeseS?

Options :

Whatsapp

Mozilla Firefox
2. %

» Dropbox

 Instagram

Question Number : 41 Question Id : 51714411153 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



The target year for achieving the Sustainable Development Goal is...
ReBe E:-éj&'ﬁe:@ e A=Y ﬁj&?&%é Lo Bo

Options :

2025
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Which of the following statements is true about global warming?
(H%05 BBHSE® K HIDD O (HAFED HOGDHSH?

Options :

Global warming has led to large scale deforestation
(HHoS B DY BB e BN 68208

1. %

Global warming has led to a rise in the sea levels

5 o B0 ST [ 5;03}@ 25HHdes obdHoH



Global warming has led to a rapid increase in the population across
several countries

i (202003 J8 DG Bed® morer JKHod HHEOD orbH20H

Global warming has led to a huge amount of waste generation

. (5505 B g6 Eéejmv LA 08208,
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Which of the following gas affects human health by reducing the blood's ability to
carry oxygen to different parts of the body?
e D EB%errred @Kh}éﬁ% BESED é@oﬁ} VYR fjﬁﬁﬁﬂéﬁa =
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Options:

Carbon monoxide
5?@5 SnoeenG
1. ¢ s

Carbon dioxide

5 % 590 8 ©8)6

Sulphur dioxide

3 % Senb 8 w86

Nitrous dioxide

4 % 3 5%
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The National Institute of Disaster Management (NIDM) was established

80D D) e 0 EDoDDED 36
Note: For this question, discrepancy is found in
guestion/answer. Full Marks is being awarded to

all candidates.

Options :

September 23, 2002
Qyoat 23,2002

August 14, 2001
ey 14,2001

October 16, 2003
©S2% 16,2003

August 14, 2004
@r"i‘@ﬁ 14,2004
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Where was the first International Earth Summit held?
B Al) @Dﬁﬁmgécﬁj Zedpoe(id HHrado 28R “{mjrs_ao

Options :

1 % Kyoto

5 Rio de janeiro

New Delhi
3_ W

New Yark
4. %
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What do you mean by ‘Shastras’?
Fo|deen e

Options :

Creative literature
aard)E Jeardio
el =



Learned disciplines
> & BB Boleen

Imaginative

L x ST

Creative and Imaginative

4 % ﬁ&'\,ﬁﬂ‘jé_ﬁéé, éaﬁééé

Question Number : 47 Question Id : 51714411159 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Who was the chairman of NEP 2020 drafting committee?
Q.32 2020 Snaronte @it X% ?

Options :

Kailasavadivoo Sivan

1. %
Dr. K. Kasturirangan
2.
Prof. Yaspal Sharma
3. %

Prof. G. RajaGopal
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Which of the following learning programme originated in India and is considered
as one of the oldest?

230805 (FBododiad, Horsskbmr SBKBoHaE g5 SEEDED B?
Options :

Law
a"r;gdfb GLESTY

Fine Arts
) % ©08 B¥en

Ayurveda
@Cﬁ)}éﬁgﬂﬂ

Management
NBgsTes
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Which is a solution to reduce the progress of climate change?
TERtn S5 HBI ShHoHes HBL)BE

Options:

Greenhouse Gas
DB 208 TN

1. %

Wind Power

5 @ el ¥8

Deforestation
eE38) F{}iﬂﬁéﬂé

Fossil Fuel
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In which models of Integrated Education Programme is being implemented in
large scale by governmental and non-governmental agencies in India?
R0&05TSEY) (23ghesk, @’}e,’i)é&éeﬁ 50?&@3, Ejﬁg S5, & Bl ey DG
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Resource model
1 & DB Shoear



[tinerant model
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Both Resource and Itinerant models
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Dual Teaching Model
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The Life Model (Ecological) of social work practice is best associated with
FAS $5), 78R By 8D FTrdS (Aer238S) esdsorr
LINVATOIATATATROA)

Options:

Walter Friedlander
0 | Ber 0G0

Mary Richmond
B B500E

Carel B. Germain
500 2). 2320

Florence Hollis
. O OV
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Sum of the deviations of all the values of X from the Mean is?
DR 0B X AZ0E) ) DN DI N0

Options :

Minimum
« 530

Zero
QOO™)

Maximum
. lafele%e)

- B

One
2,563
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Contradictory demands of the same role is termed as?
@973 a5 A3NE) DDA (33700 Qe DENAT D ?

Options :

Role strain
5S | RONS



Role playing
5S 0on0h

Role conflict
ared D0V
3, %

Role twisting
b E35voh
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Dementia is a

AIE50

Options :

Neuro-Psychiatric problem

3075 8-R8A5 €35 D
1. %

Mental health problem
AR08 @885 DS

Dermatological problem
2307 D0200EES DS



Cardio-vascular problem

4 % SEOT-T0FO0 DS
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Social activist and Magasaysay award winner Mr. Deep Joshi is best associated
with?

3728 5236580 OO iR @) (ared dND &9 £ oD
@00 &0d?

Options :

Tribal Welfare
AB23 DOZ N0

Child Welfare
, % 3D DOT DO

Family Welfare
50002 DOT N0

Youth Welfare
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To evaluate another culture according to the standards of one’s own culture is?
2,50 5065 0, 98 (DAPETE) (500 0TS 00} 930 0L IONO

Options :

Material culture
23 DO Hed

Ethnocentrism
. DE) 0(E3230

Non-material culture
2338 EHS DO e

Xenocentrism

. B0 W0E3B0
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Which of the following are the characteristic features of an urban community?
808 a3 6D K00 TR0E) 088 OZETEN IN?

l Large size
20 BTE0
Il. Preponderous of voluntary organisations
59108 DOV [FTT5eH
[ll.  Anonymity
€92 ¢80
IV.  Preponderous of secondary and tertiary occupations
85 0D HOAN 5B igee) T0E), VOB
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3. W
v LILIN&IV
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Which one is not the assumption of social case work?
FFAD TR 50y WNE), & D B?

Options :

Every human being is to be respected
1963 DA T BD0IDTTE)

1. %

Every human being can change

A 0D STBIE0)

Every human being has some work

1983 DVNE DE 2,8 HA GOLNOE
3. %

Every human being is an artist
23 SDVNE E 2,8 DA SOLNOA

4. &
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Which is not a correct statement about lay-off as per Industrial Disputes

Act, 19477

JOF0E AT 1980, 1947 (DTG0 B-35 (HBOD) DT [DFEI

DO ?

Options :



Lay-off is refusal to give employment.
- S-e3D @OV GO QD T8 DTEO0TIB0

Lay-off may be due to break-down of machinery
ANOE"® DI O SPOEIONT -85 529t ).

Lay-off may be due to a natural calamity.

3 % (B ZDOB0 B0 S-e39) 5790

For lay-off, an employee need not be on the muster-rolls.

B-59 §0, 2.8 &80 O0B-TS 1 095000 965380 B
4.v
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According to Durkheim “Human agency” is constrained by
B0 (D5°E0 "IN DB BT AB)0O0IDB0E.
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Political process
. 0°380D (DA%

1.

Social structure
5 @ %288 D0™EI0



Economic resources
. @08 S3%ewn

Agency of other actors

L« BSO 5e35E00 DB
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Reproductive and Child Health Programme (RCH) in India was launched in year
2rESTI0S Y588 HBAM DO &8s 51800 (RCH)
N0581508 (ZrE08)0tHG08

Options:

. v 1997

, « 2001

. % 2003

, « 2006
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Téhe notion that men are stronger than women is a?
(0 EOBY )N OOTT E5ro™) O 277099 ?
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Sanction
| % o002

Value
o))

Norm
JANER AN

Belief
o280
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Voluntary reference of disputes to arbitration is dealt under which section of
the Industrial Disputes Act, 19477

205588508 HODOBODN DT 529108 (T3 o) E® 80
081 0TEN0R TOFTDS TTTO LSO, 19477
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Section 9
;% 89

Section 10
“ 28810

Section 10-A
, 8.0 10-0

Section 11

ES 11

4, %
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GDI stands for
GDI @0

Options:

Growth Development Index
'S TIODOE ROTS)

Gender Development Index
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Growth related Development Index

DY DODOEES €92)HD TS

Gender related Development Index

4 x D00 HODOHES 925G DY
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The Rational-Emotive Therapy is best associated with
BrERS-2T B .58 D8 SN0 90 H0TIE0E.

Options:

Eric Berne
- 288 230)

William Glasser
- DEIADO [j“ﬁfﬁ

Albert Ellis
s v SO DD

Gordon Hamilton
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Which of the following is not a correct match?
808 ¢3S DE IB 35S 5°0?

Options :

Functional Model — Jessie Taft
NOENS TS - B

Problem-solving Model — H.H. Periman
QDeNR -0 563070° - H.H. 2008550

Client-centered Therapy — Carl Rogers

. Eon0S-80|HE e D8ehY - 520 5235)

Reality Therapy — William J. Reid
4 v BOSFOES BB - DOAH0 J. BE
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Which of the following is not a theory of labour welfare?
808 3¢S O 5828 NOB. DT°0H0 FEN?

Options :

Religious Theory
sEH D"0EHO

1. %
Trusteeship Theory

S .o = o
_— R NOH0

Policing Theory

- FOVOR DF0S0

Distributive Theory
4 » BLD275E3S HOO
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Adult literacy and combination of primary, secondary and tertiary enrolment are
the dimensions of

SR TG SHOAD BTG, B 530D OO & BaH ST
eroms Q308 Eereden.

Options :
Life longevity
22365 AT O

1. %



Knowledge
AN

2. ¥

Standard of living

5 5 B0 |DEIO

Social harmony

4% SIS P00
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Under which of the following articles of the Constitution of India does the state
provide equal justice and free legal aid?

22 072306065 ) 806 ) e8B8SS 07520 0BG
Qo) °S0D0 DTN ETIEY T°5AD I ON0?

Options :

Article 38
| % 05O 38

Article 39
308D 39

Article 39-A

;v S08S 39-A



Article 41

4 % SO 41
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The Right to Information Act was passedintheyear .
W e, v W, W : b L
SINVERK O PV VN W 0051306 BIFOOIDG0E

Options :

. = 2004
, ., 2005

5« 2006

, % 2003
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Freud suggested that mind is composed of
200980 & Er 0ENOA (oG DO

Options :

Thoughts
LT ERTNN

Feelings
23°60°C )

Instincts
EMSALEMSGY

All the above
O
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As per the William Beveridge Report 1941, which were the “Giant Evils” in
society of England?

DODH0 TIOG AIAE 1941 (550, 39 D20 "Bonod) &S "
[OT0&?

l. Squalor and Ignorance
%500 oDOO @TN0
[l. Want, Idleness and Disease
O, D105 DA a5
III. Idleness, Disease and Poverty
2050, 336 DB 850
IV. Poverty, Unemployment and Squalor
23880, ADE:K0 OGN WR6E0

Codes: §Ge:

Options :
[, 1l only
1, 11 8307 €553
[, Il only

o L NSRS
[, IV only

L LIV VR FN
| only
INVETETN

4. % -
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Which one of the following is not a part of the Directive Principles of the State
Policy?
808 a3 DO T2 A0 By 858 ArEed 2rio FE?

Options :

Panchayats
DOTTONEIEN

\Weaker sections
2)OIOT TN

Law and order

ey @905 e3Q6
3.V

Animal husbandry Standard of living
« DAL 226509 (2INIEI0O
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Who among the following is associated with ‘Bachpan Bachao Andolan?
806 T8 IS DOND DTS SOEFTS @200 SO ) 8?

Options :



Medha Patkar
DG ed),0

Kailash Satyarthi

=, i ¥,
5 E__(‘?_':F“ol 03@5“5@

Sunitha Narayan
T DO ANED

Maneka Gandhi
- s rodd
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Which among the following Indian States has conducted the Panchayat elections
first in the country after the 73rd Amendment Act?

808 27509 T aFOS D6 SNOGIT HOTTADE DY EOD
QO SI0I00 736 IO RO Tr 5eh?

|. Madhya Pradesh
VAl
IIl. Karnataka

O
Ill. Haryana

NNV
IV. Punjab

0T
Codes :

Options :

| only
| 3 cha

| and Il only
| SO0 11 835750

[, Il and Ill only
1, 11 0805 1 S50

[l and IV only
11 50805 IV 557 ¢5a
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Which among the following statements is not correct?
808 VEVOEOS’ DA OBXE 5°¢0?

Options :

SSA seeks to provide quality elementary education.

. SSA T35 (a1 D5 0AOTTRE (0903) WO A.

SSA seeks to open new schools in places which do not have schools.

| TBTON B T 5B T BBTOR SSA (L0063 0.
2.

SSA addresses the needs of 192 million children of India.
SSA e TE0S ) 192 DOAND DO 0TI B BN0E.

SSA inter alia focuses on adult education.
SSA ROED QOAIF TR DA Do) B0,

4,
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Which among the following statements is not covered by 73rd Constitutional
Amendment ?

735 02508 020802 808 (HEOXOS B HBSE ¢
QDIOEIEN?

|. Regular elections to Panchayats every 3 years
8 3 06568107080 2,870 HOTODSBOZ TG I FON
Il. Reservation of not less than 33% for women.
STFOF0 33% E0T 5800 S*E0T B20 L.
[ll. Constitution of a State Finance Commission to help Panchayats.
HOTOHBOZ D:FAH0 TONTE T2 e30% N0 T723:5010.
IV. Proportionate seat reservation for SC and ST.
D) SO0 ANOZ) TEITRE N BET 5.

Codes:

Options :

| and Il only

L ISV IOWI [ INVTE NS

l, 1l and 1lI

1, 11 0O I
2. %

I, 11l and IV
2 I 1188050 IV

L, 11, 1, 1V

LB IV
4. %
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Which of the following are the attributes of a profession?
806 a3 59 TBNEY) OZETEN DN?

l. Recognition by the society
HONOD HOON)

. Profiteering
DIFARHOVITS)

lll.  Formal agreement with the state
O R0 H588 2,0)0850

IV. Controlled entry
QODO(E365 | IIFO

Codes:

g'&en:

Options :

| and IV only

. | DB IV S5

[, 1l and IV only
1, 11 s0OA3 IV $357(dod
2. %

[, Il and IV only
s 11111 0B IV NGTERS

AL, 1V
1, 11, 11 083D IV 35750

4, #®
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Which among the following is correct?

808 T3S BB IE?

[. The maximum gratuity payable to an employee is 10 lakhs.
&E:A8 TOOTONN (6 (renges 10 oF e,

Il. The wage ceiling for the coverage of EPF Act is 15,000.

EPF 2500 863028 §:00 3695 2d0abed 15,000,
I1I. A conciliation officer is empowered to pass an award under Industrial
Disputes Act.
0TS AT A0 (55790 WFDD SSrO0DENE 28 07
©5508 OO0 GoEN0E.
IV. Registration of a Trade Union is compulsory to get it recognised by the
Employer.
0027B HO0) POTO0E TG CRHFIANN AR )0.
Codes; 6

Options :

| and Il only are correct.
R PVelovW| NGRS e NG

I, Il and Il are correct.
5 % [, 11 <085 I E’JQSSS;)

|, Il and I\ are correct
I, 1l 08 IV OB eded

3.

All are correct

4 v OV OBES
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The observation made without involving extrinsic and intrinsic variables is
27575 50005 06506 FOAHNO ) (N0 SHOT TN OIS __

Options :

Participant observation
| % @‘f;inﬁfaj"@ DB

Non-participant observation
, % O HOBD

Controlled observation
a . T o & v
3 % r\le}C}Lf_‘E'J@J SIS

Uncontrolled observation
JCHO(3ed HDOFIS
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is a violation of contextual, cultural or social norms.
HOBBYD, R0, B8 B /IS8 N20BRE OO0,

Options:

Rebellion
PR 2 ISVIgVEALAN

Ritualism
5 % BTO°ED

Dyad
208 I RF0; DO DOEDSO

Deviance
DT OO0
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is the study and review of past operating experience.
R0 K65 A 5578 96032390 ThE) @O0 SHOARN b

Options :

Recording
| = 052900



Accountability
23520080

Monitoring
- B 0N

Evaluation

s 050
4, &
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assesses the likely turnover in key posts and identifies suitable
candidates to fill these posts in future.

5038 PO 0275 3870550 0T WA SOOI
B 9255003 HONOA LS & DO oNOA.

Options :

Manpower planning
| o0069F8 | DET RS

Succession planning

G565 ¢ (DEFDE
2. :

Turnover
< '
- €28 35



None of the above

e 23 5N

4.
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Assertion (A): Social policy is necessarily concerned with the promotion of social
development.

2956300 (A) : 07238 TR0 €850 RO 3238 (0§
N020H0DNE @92)d8.

Reason (R) : Social policy is the planned intervention to improve existing social
system.

G820 (R) : radre28 TT90 ©RA 938 ) ArEs)
DODIEITVE (NETDTAORS 5830 353

Choose your answer from the codes given below:
B 259 560 FEO D0G O AT NothE0d:

Codes:

SGaen:

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A)
(A) s0O05 (R)BOLT B sDOOM(R) DE(A) G30%):986 edded

1.4

Both (A) and (R) are not correct.

(A) SDBOW (R) BOGT HBHD 5269
2. %



Both (A) and (R) are correct, but (R) is not the correct explanation of (A).
« (A) HBON(R) DO HBRD),TA(R)TA(A)ITR0E), B Deddea 520

(A) is correct, but (R) is not the correct explanation of (A).
L (A) OBIA, 5 (R) 93 (A) T3nEy, OB DISed 5°¢H
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The ‘Structure of Social Action’ was propounded by:
" 357238 985 DBNE). ATE0" DO |DITEOIDROE:

Options :

Max weber

- ad°5 ) 33200

Robert Milton

o E
, % 0700 DS

Talcott Parsons
- ARDTA VIO RTSN

Radcliffe Brown
4 x O°BED (TS
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Assertion (A) :Trust is crucial to the relationship between a professional and a
client.
BN (A) : 28 1730 8050 S0n0E s8s 02058 (B §0%0
Reason (R) : Trust in a relationship can act as a catalyst for behavioural change.
5690 (R) : 29020506 350380 (6587 S8 )80 & @380
DDA,
Codes : S&ex:

Options :

(A) is true and (R) is false.
(A) D220 DO (R) €55))

(A) is false and (R) is true.

s

(A) ) OO (R) D230

Both (A) and (R) are true and (R) is the correct explanation for (A).
3 v (A) B0 (R) BOGT DB aDOGM (A)§ (R) 0B dIOE.

Both (A) and (R) are true and (R) is not the correct explanation for (A).
(A) DB (R) BOCT Q230 o8O (A)8 (R) OB 2)odBed 520

4, %
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Assertion (A): Social workers are imparting training in soft skills to the police

personnel.
86 (A): radres S50 O 2008 T 0) .
2™ 8.

Reason (R) : Social workers are trained in basic values of justice, equality and
respecting human dignity which render them appropriate for
imparting training in soft skills.

$5€20 (R) : 37238 50680 5000, fadraieh S0 sDBOM (2rHaD
2N 3589 FOVTN I TITR) TIN0B0, 2O

3R ©0B0IERE SAIAM B0 v S) S 3.

Codes: §Gex:
Options :

(A) is false and (R) is true
e (A (A) S3)) 083 (R) Q230

(A) is true and (R) is false

. (A) Q220 DOAW (R) ¢da)))

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
4w (B) 0OQ(R)BOCT D20, SR)TE (A) T34 s '

Both (A) and (R) are true and (R) is the correct explanation for (A)
(A) BAW (R) BOCT Q230 oDBA (A)S (R) OB 0O

4.¢
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Which of the following is not a correct match?
206 ¢3S DO OB S35 5°0?

Options :

Mohammad Yunus — Grameen Bank
% o050 O - (ITaEd 27508

Amartya Sen — Welfare Economics
. 2005 DN - NOT D &08 F(QO

Verghese Kurien — Sampoorna Kranti

v S0 Z000DS - DOIY (0

Mahatma Gandhi — Swadeshi

4w ST TOG — DSBF
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Match the List - [ with List - | and choose the correct answer from the codes

given below :

List-1 erdder-| List—1l 2rdder- I

(Name of the Author) (Title of the Book)

(ETHone &) (80 Twé), 30%)

a. A. Kadusin I. Principles of Social Case Work
SR VAN O 3o 0) TR0, e

b. T. Biestek ii. Child Welfare Services
T.8)%5 3FO IS0 8L

c. Grace Mathew lii. Introduction to Social Case Work
110 G FAO 3 850, HOHOH0

d. S.K. Khinduka
NAER:olal:

iv. Working with Communities
HDONTOS O 3 DF0E

Codes : §Gen

Options :

a-ii, b-i, cHii, d-iv
1.¢
, % @, b-ii cHiil d-iv

3 % adiv, b-, cHi,  d-ii

a-iii, b-i, c-, d-iv
4, %
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Match the List - | with List - Il. Choose the correct answer from the codes
given below:

205 = 18 e - (1R 08108 HO0 D @ 58S GO D0
DTN TR, JOTNEO:

List -1 List - I

re)E - | e - ||

a. CARA . Morphostatic properties
CARA 30 ress oF eren

b.  Family i, Alzpeimer
5060020 DIINVG

¢.  Dementia iii. Child
DAZ8%0 VOTCD

d.  Creche Iv. Adoption
53 (ebe

Codes : §6

Options :

a-iv, b-l, c-ii, d-iii
1.¢#

a-i, b-ii, cHiii, d-iv

2. %
a-iv, b-iii, c-ii, d-i

3 %
_a-ii, b-iv, cHii, d-i

4, %
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Match the List - | with List - Il. Choose the correct answer from the codes
given below:

e - 18 aEe - 110 S0 108 005 B 3§83 §& oG
N0 AR, JOHEod:

List - | List -1l

e - | o - ||

a. MADA |. Rural Housing
DT GO0 oF0N

b. Step up ii. Rural Connectivity
&3 T $380E3

¢. PMGSY lii. Urban Development
PMGSY DL ©92))

d. IAY Iv. Tribal Development
IAY 230 92

Codes : SGen

Options :

Lo v, b-iii, c-ii, d-i

> % a-ii, b-iv, c-i, dHi

5 % aii, b, c-iv, diil

a-i, b-ii, c-iii, d-iv
]
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Match the List - | with List - . Choose the correct answer from the codes

given below. ]
List -1 List =l
e - | e )e - ||

a. Probative Department . Rehabilitation of Offender

23 BrO0E ©OITE) ANE). sYNTFO0
b. Parole ii. Juvenile Justice

206 22RO BV
¢. Vocational Training iii. District Court

S8 356 208 S
d. Child Welfare Committee iv. Reward for good conduct

3O 3520 &0es 000 (93858 (B0

Codes: &€6Gen

Options:

| w @i, b, ciii, d-iv

, o aiil, b-iv, c-i, d-ii

3 % @V, b-l1, c-ii, d-iii

a-ii, b-iii, c-iv, d-i
E ]
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Arrange the following Acts in a chronological order of their enactment;
808 WETFON arE3 @6ENF) NODOHON TOEATITIOM @8 )08:

|. Plantation Labour Act
O B0 OS5

Il. Payment of Bonus Act
S0 1960 3O

[1l. Payment of Wages Act
Sesre Ty 90

IV. Motor Transport Workers Act
Arerd) Oarer 50500 w0

Codes: §Gew

Options :

I T,

e IV

s 1 IVl

g IV

Question Number : 94 Question Id : 51714411206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



M.G. Ross has described four major roles of a worker in community organisation.
Which of the following are those roles? Choose the appropriate code.

20.22. $5mE3 S8UTEASS 960 T0E) TN (ST RN TR
DIBOTTCR. D6 808 T3S €3 F(ehen adES? 50 §GR JochEod.
|. Leader and Educator
088 s0BOI VT3
II. Social Therapist and Expert
FAE B B0 Aeyech
Ill. Guide and Enabler
716 s0B05M DO
IV. Social Reformer and Mediator
200 0030 SOOI G50
Codes: §&en

Options :

| and [V only
w1 SO0 IV S5

Il and Il only
5 o 1108050 Nl 71530

| and Il only
L o | S00C0 Il S8

[l and [V only

\ ISV ERY
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Arrange the following in sequence in context of history of social work in West:
VA ﬁ%“tijs e 58 s8erd TH0(e 0G0 806 ared S5
506 @9508)06:
|. Poor laws
A ARANOV
Il. Appointment of overseers of the poor
200 HOIRE B AoiTnE0
[Il. The Beveridge Report
& 656@ 60325
IV. Friendly visitors
)T 88 0CE50e0

Codes: §Gexn

Options :

e LI v
5w IV AL L
3¢ L LIV
a = WAL LIV
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According to 2011 census, the literacy rate of India is
2011 22072 35),.© 105700, 2705554 08 U565 DED

Options :

62 percent
1. % 62 350

74 percent
5 @ 1430

80 percent
3. % 80 F°€50

82 percent
4 % 82 350
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The main focus of “Atal Pension Yojana” (APY) is on

=

"e9E)O VIR O3B (APY) G30E), (D57 B G0

Options:

Retired persons from Quasi-government sector
278 8-(5325065 ¢ 3050 0B DA DB FOAD H58ven



Workers of unorganised sector
29000E3¢% OO 528500

Workers of organised sector

L« D0E3e5 oHOS' 56500

Ex-servicemen

. a30°28 2BVEN
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Practice of untouchability is abolished by the Indian Constitution under
the Article:

90T RBI0 GINE) BTG0 o) BSOS 808 3 BOVGOA:

Options :

1.« 17
2. %19

5« 38

4, % 42
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What is/are the purpose(s) of agencies involved in the field of corrections?
BT B0H0ES aFeNN0THZN] DBAN® (HTFEH0(EN) dae3?

()  Reformation

0 OeD
(i)  Training
3360
(iif)  Education
D
(iv)  Retribution
38
Codes: S&ew:
Options :

(i), (ii), (iii) only
(i), (i), (iii) o50°(e5a

1. %

(i), (ii), (iv) only
(i), (i), (iv) S3o°(edo

2. %

(i), (ii), (iii) and (iv)
)

5 s (1), (i), (iii) 2O (iv)

(1), (ii) only
L (i) SHSD
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Sansad Adarsh Gram Yojana is implemented by

HODE 350 (Mo T3 °ST° 90N DONDROE

Options :

Members of Parliament
, POBOE LN

Members of Legislative Assembly
o T0R0Z DZNFEN

Department of Adult Education
o 003 DTI°§ 2O

Village Panchayat
% 0 HOTTODE
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Field work in social work aims at
o o N —
307238 IS O 36 ©F 50

I. Development of professional skills.
5)EIDBS VYT 98I E.
Il. Integration of classroom learning with field practice.
5O ErES SRETS B8 0h T3y D8Edea.
[1l. Development of service mentality.
D DNES §0 €92)9) D).
V. Development of career orientation.

88D £33 €92)598.
Code:

Options:

[, 1l

1. %

S L AL

5 % LIV

L LIV
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The goal of social work is
37238 0 ©F 0

Options :

1.



To reduce social tensions
roaree2E Gl OS5 80T RE

%

To provide services to all
P é ﬂ ul o u‘(.\(
, x @088 RN ®ODOTIC0

To promote social justice

TPaI7228 SO, (88 ) o0 ITE 8
3. %

To service the elite

€509 €5 DTE S DANCO
4, #
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Arrange the following international years in the chronology of their observance
(ascending order):

808 ®OSTHOD NONSITON T ST By FOEN0S
9508108 (878 (5006 ):

. International year of cooperatives
90T TS 06565150
II. International year of forests

@Oeﬁg@cﬁ) 9030)©) 03900
I1l. International year of youth

£90S5TH0D TN 05365150
IV. International year of Human Rights Learning
90705 siPeSs) 578050 @275 0558 150

Options :

L, 11, 11, 1V

1. %

5 o IV, I, 11

3 % VAL

4 = LAL IV
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Service rendered voluntarily by an individual or group to another individual or a
group is called as

28 38 B T0 05 23588 B IS @ e)080™ @0H0D
698 ) ©0EFS)



Options :

Professional Social Work
é@@é}cﬁ@a’} o228 )

Social Development Services
- 37238 €92)59D eHeN

Social Service
3 ¢ 27228 D

Social Reform
 Poes D00) 06
4, %
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Satyasodhak Samaj was founded by
De8F T DTS DIOT D 0TIRG0E

Options :

Dr. B.R. Ambedkar
oz, 2).e8D. ©023¢5).0

1. %

Ramesh Bandari
- B0 20T



Jyotiba Phule
L v S8y oy S

Anna Hazare
4 % ©OT) J20
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Arrange the following types of data in the order of their complexity:
800 857 TEFD o3 08N eh (800 9508 0G:

l. Interval
OO
Il. Ratio
A
[ll. Ordinal
s
[VV. Nominal
NENVIN(ETE

Options :

1w ILLILIV

5w LILHL IV

N \VARN



IV, I“, “, I
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Which one of the following is not an ecological movement?
80B 7e3ES HTIBED €5CI500 T DE?

Options :

Pani Panchayat
D HOTTTONEd

Chipko
% WY

Bhoodan
v 0T

Pluck and Plant
08 @0&% T0&
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Assertion (A): Women's participation in Natural Resource Management is
essential for its success.

DB (A): D572 38O B 578 o3 2Ry esg0 T

20378 ©9a00.

Reason (R): Awareness and empowerment of women will enhance their

participation.
520620 (R): aorF @ITora) aDOOIN POSTOES 320 2P L5

DARHIRDD0A.

Codes:

55

Options :

Both (A) and (R) are correct and (R) is the correct explanation of (A).
1 v (A) HOAN(R)BOGT B2 HOAW(R) DE(A)IBNE), AT DaIBed

Both (A) and (R) are wrong.
- (A) 0OAW (R) DO €5))).

(A) is correct, but (R) is wrong.
L % (A) OBIS, 5 (R) 8a))).

(A) is correct, but (R) is not the correct explanation of (A).
(A) OB, 55 (A) BE), DB DB (R) 5°.

4. %
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Correct Marks : 2 Wrong Marks : 0

Which one of the following is not an objective of social policy in India?
806 T3S DO 2rBESDI0S AT 0 TBNE). ©F 0 7

Options :

Equality
. ATED SO

Social Justice
NNV E{eWe!
.

Inclusive Growth

- DAL Ed 5B

Population Growth
y B 2D
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Which of the following is not a social legislation?

808 T3S DO iYW 5°CN?

Options :

Protection of Civil Rights Act
0 o280y 68,89 DO

1. %



Beggars Act

, % S)TE SYO

Right to Information Act

- NIV UL POV R e

Forest Conservation Act

. 2980 D0BE £ IO
4, %
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What is the theme of Prime Minister's High Level Committee popularly known as
Sachar Committee?

DD ENEST (RO TOAN (570 S00LE Eed) 5 o Eade3 Ty, e
Dae3?

Options :

Social, Economic and Educational status of Muslim Community in India.
2FEBDF0ES SN0 DeITFE0 TB0E), Arere, 30 sHB0 DT V.
1.¢

Imbalances in development of different regions in the country.
- DF0S'Q DA (B0 e92)d)DS €0ds0e8e)56b.



Impact of double taxation on domestic economy.
D0D @308 555993 (520 XTI (230.

Social, Economic and Educational status of the Rajput Community of India.

\ 2GS ey D00 TE) ~radress, @08 SHO05N D Ves.
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Social Audit refers to
FAO BGEE T IO

Options :

Security and analysis of the working of any public utility visa- vis its
social relevance.

DB HE AE3OE3 TE), R TEY 255 B0 DBED TR
TS LWeEsdd  DoV0HOW.

1.4

Audit of all the work done by the social sector.
, % 0%35235 B0OM0 TR QY DL SGBE.

Auditing of all the accounts of NGOs.

. NGO® &) gree esde3oh.
3.



None of the above
0 59
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Which one of the following is not a Fundamental Right?

806 a3 DO [TRNE 578V 5°E?

Options:

Right to Work
e, e A,
EIPRVNERES PO

Right to Constitutional Remedies
07235001 28X 07 I°50)

Right to Freedom of Religion
5 x o€ VL) STE

Right to Equality

QodTES O °50)

Question Number : 114 Question Id : 51714411226 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The oldest social security legislation in India is
2FSESTFOCT R YT wTdre3s 2318568 TH0

Options:

The Workmen’'s Compensation Act
520500 DB SO

Provident Fund Act
BNTOE HO& DO

Maternity Benefit Act
(2073 D323 HEO

[-5]

Payment of Gratuity Act
rexge3 90 TDoDH
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Which organisation among the following publishes the records of accidental
deaths and suicides in India?

806 T3S 2 0R PBBDFOE [IPITER s0BETEN DO
83652576550 OO [DTHON0EH?



Options :

National Commission of Women
2726305 02 ENAS

1. %

Ministry of Social Justice and Empowerment

, x 0re07238 D500 aDBAN QS B SDO(e3es S TR

National Crime Records Bureau
L QIS (B 85°9 ) 22758

Census of India

4 x ATOSBTE By e
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Juvenile Justice (Care and Protection) Act was introduced in
P IR0 20 (30 @08 (FBIER) O (D% aDB0H

Options :

. 2001
, » 2002

, ., 2003



2004

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Match the List - [ with List - 1. Choose the correct answer from the codes

given below:
s 26522809 3B FEA NothEN 0 T e - | TS R
0TS IO )0G - II
List - | List - I
o) - | e - ||
Social Reform Social Reformers
2060 0 BeD 005D 0 0eN
(a)  Widow Remarriage (i) Raja Ram Mohan Roy
2)E8068) o)IB ST 0 0723 T a0F 0700
(b)  Sarvodaya (i) K.C. Sen
SoRAON 5.0, 0
(c)  Abolition of Child Marriage (iif) Ishwar Chandra Vidya Sagar
P05 ey B &40 0|8 Ds a0
(d) Satl (iv) M.K. Gandhi
63 MK. Tod
(v) Dayanand Saraswati
AOSFI0H B 588
Codes:
§Gew:

Options :

1.



a-(i), b-(ii), c-(iii), d-(iv)

a-(v), b-(iii), c-(ii),d- (i)

2. %
L o a(V), b(iv).c(iii), d-(i)
4w (V). be(ili), (i), d(i)
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Who coined the term conjugal family?
70655 OEN0D0 B DTN, I CDOIA0TN?

Options :

William J. Goode
DO J. (@

1.+

Murdock
, % DTS

Cooper

00
3_ F



Talkot Parsons
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Match the List - | with List - Il. Choose the correct answer from the codes
given below:

o) - | O308), WOTON A - | 90TOS B 0k:

List - | List - Il
e - | e - |
(a) Patrilocal (i) Living at brides residence
DEBYTR0 5306 AT ST S
(b) Matrilocal (i) Having own set up
e TS0 FOS T™)E0 $OR GO0
(c) Avanculocal (iii) Living at bridegroom’s residence
296900 %S S8E AFH0E AT
(d) Neolocal (iv) Living at brides maternal uncle’s residence |
ARrSES SE30690 STPB AT ARV &
Codes:
gGen:
Options :
a-(ii), b-(i), c-(iv), d-(ii)

1. %

5w a(iii), b-(ii), c-(iv), d-(i)



a-(iii), b-(i), c-(ii), d~(iv)
3. %

. a-(iv), b-(iii), c-(ii), d-(i)
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One of the following is not the reason for single parent families:
208 B0 Lren02redd 0B ¢3S’ 2,863 528690 5

Options :

Death
1 % oGO

Divorce
. DTIB0EN

Desertion
Sjcf%if}?})@éo

Transfer
230¢)
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Probation services entail —
DBFED 9N BIE HDO0E0INN

Options :

Leniency in correctional services
BEDTED IS Fredged

1. #

Institutional services
DOV Hed 0adeN

2. %

Community based treatment of offenders
B D HONO 850 6d IEed )

Letting off of offender
DT ER) DB DO
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Which of the following is not an intervention method in the correctional setting?

806 ¢35 ACYeren VoS %5 HO s¢H?
Options :

Group work and group therapy
"2 0587, 0O K70 BED

Social case work
PA7228 B D

Entertaining guests
293NN OO0

Family-centred counselling
Z0€002)-30(O8yed TTIO0h
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Consider the following statements and select your answer according to codes

below:
806 D0 NOFETOR), BH TGO 1N5E0 &) ST
NONE0:

Assertion (A): Social defence is a broad concept that aims at defending society
against crime by re-integrating the offenders back into the society.

30 (A): Pre2E EE 69 9RO ROV BBA erE0e) 8 DGO
50" ROOF0 HIBVEOT MR 6803 ©F ;08 §rded
ISR TANIN

Reason (R): Social defence attempts to prevent the emergence of criminogenic
situations through preventive programmes.

060 (R): Wredoredd 0869 AarBed SOSET T 5T DUeyrBed 2OV
SNTHTV) A O0TRE (OB DO,

Options :

Both (A) and (R) are true.

- (A) SDBC3W (R) BOCY” Q230

Both (A) and (R) are not true.
(A) B0 (R) BOL® D220 525,

2. %

(A) is true and (R) is false.

- (A) D220 DOAW (R) €5))).

(A) is false and (R) is true.
4 % (A) &) HBAW (R) 230.
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Which one of the following is not a challenge of managing urbanization?
HEEIEBEID AB LTS0S 80O ¢3S DO daren T°0?

Options:

Sustaining the momentum of economic growth.
e30% 5O DT TR0 B0.

1. %

Addressing urban poverty.

DD T8 HONYB0HCB0.
2. %

Energizing cities to become engines of national development.
- D7) 08 OBV STETERE ST 3850650 TANCSO.

Separating rural from urban areas.
DEIED |ZTOTE) A0 (T [TPOTTO 3¢ DADEHO.

4. &
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Match the List - | with List - II. Choose the correct answer from the codes
given below:

& 80 are3R) 0¥ Yo d:

List—| List—1I
e - | & )er- |

(@)  Enuresis (i)  Low achievements
DATEOR) €830),0) QB0

(b)  School dropout (i)  Threatening reality
A0 1T BOOOT TN

(c) Aversiontofood (i) Poor mother child relationship
355390 D NG 206 €6) 23 0200

(d) Day dreaming (iv) Insecurity
03 Serexn 3¢k 2929 &5

Codes:

Options :

a-(iii), b-(ii), c-(iv), d-(i)

a-(iv), b-(i), c-(iii), d-(ii)

2. %

- a-(ii), b-(iii), c-(i), d-(iv)

4w @), b=(iv), c(ii), d-(iii)
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Match the List - | with List - Il. Choose the correct answer from the codes
given below:

8080 a3 O 0E:
List -1 List - Il
2 )e - | e - i
(@) Home visit (i)  Tool of learning and teaching
Bas> 08 2927390 SO0 TS 30
(b)  Face sheet (i)  Evaluation
DR A e 080
(¢c)  Process Record (i) Holistic assessment
o 050 FrOVE 0L
(d)  Evaluative summary (iv) Intake
€508 NFOP0F0 SNEHB0
Codes:
gGen:
Options :

a-(iv), b-(ii), c-(ii), d-(i)
1. %
a-(i), b-(ii), c-(ii), d-(iv)

a-(ii), b-(i), c-(iv), diii)

a-(iif), b-(iv), c-(i), d-(ii)
4.
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808 are3R) 0¥ )0R:
List-| List - Il
e - | e - ||
(a)  Parole ()  Dependence on court
206 S0 SEONEE0
(b)  Ticketless travel (i) Rehabilitation
¢33 B (D05rea0 TR0
(c)  Securing bail (i)  Attending a family function
Bon® PoRAGo 5062002) 5051 8T8 aY23th 0
(d)  Vocational training (v)  Petty offence
59 35 £ D) J0o
(v)  Institutional services
OIS eI
Codes:
gGow:
Options :

a-(iii), b-(iv), c-(i), d-(ii)
1.¢

L a(iv), b(ii),  c-(ii), d-(v)



a-(v), b-(i), c-(iii), d-(i)

4, =
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The hypothesis by which the researcher not only asserts that the variables will be
found to be related, but also predicts the direction of their relationship is called
HOT B8 00K IE H0D0AORINT HBoiadke TR0, ¢
OO0 BT BFAD SO 0 08I0 e DENTE

Options:

one tailed
2.8 &8 HOZOIN

1. %

two tailed
, x DO ¥ HBF)S

null hypothesis
PR VN DOZOS

none of the above

4 x 2920) 5

Question Number : 129 Question Id : 51714411241 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match the List — | with List - Il. Choose the correct answer from the codes

given below:
80Q e B )0&:
List - | (Event) List — Il (Date of Observance)
28)e = | (DY 330) e - Il (3588 BO)
a.  World Anti-Tobacco Day . Jan12
D0 &FTE) 635308 A0 209090 12
b. National Youth Day i. May 31
27305 Q0523 O 190 o 31
C. International Youth Day jii. Oct12
@OSTB0D N2 S5 1050 9825 12
d.  World Girl Child Day iv. Aug 12
190073 2705 BSe3650 iR 12
Codes:
STOW
Options :

a-ii, b-i, c-iii, d-iv
1. %

a-ii, b-i, c-iv, d-iii

2. %

3 % al, bHii, ci, d-iv

a-ili, b-ii, c-l, d-iv
4, ®
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The National Commission for Women was established in the year
T30 sV EVAD 0 D0SBIB0ET AF0IHDA0E

Options :

18957

1. %

, . 1986
2001
3, #*

1992
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Kaka Kalelkar was associated with
5°5° §83).8 AAE H0200850 EOR ) ¢

Options :

Scheduled Caste Commission
— E . Y.
223750 Boered EAN



Scheduled Tribe Commission

L xR (T2 A
Backward Classes Commission
S3eNB2B0 510 oo

3. %

Minorities Commission
0OE3 NS

4. %
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The method by which the relative worth of Jobs in an organisation is determined
is called as

N0 GBI RS DN ATANOT OB e HENTSD

Options :

Job Description
|« GO DGED

Job Evaluation
, x GOSN s00rers 0850



Job Specification
&E58 DVFOTHE

Job Analysis
&E5E D3N

4. &
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Arrange the following Acts in order in which they were enacted. Use the code given

below:

808 YT EPFOANN (5908 R @808, (808 200 &

G0rN0W0G:

()  TheESIAdt
ESI 50

(i) The Provident Fund Act
@308 Dok WO

(i)  The Maternity Benefit Act
2073 (03T IO

(iv)  Workmen's Compensation Act
50500 850 90

Codes:

SGen:

Options :
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v i i

Correct Marks : 2 Wrong Marks : 0

Cognitive needs’ of human beings are the needs
D396 €92)2T° €963 TPEN OB €963 eNeYETON

Options:

4, &

to develop abilities
DN TEI) DOFPODOTNE ICHO

for symmetry, order and beauty
D0 ETEB, 1500 0805 9050 80

for security and freedom from attack
291855 sDBAN T HOG ) o

to know, to understand and to explore
BENEI0, 2900 TAT IO BN O £N0TIO



Question Number : 135 Question Id : 51714411247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

‘Learned helplessness’ is a concept based on
2B AN 9RO BV SSRGS 2369

Options:

Unconditional positive learning
QBN B 0BT 923500

1. %

Social learning theory

Je03228 925750 D050
2. %

Hypothetical constructs
o C%00°230 €5 DT"RET°EN

Psychoanalytic approach
4w SSRE DFNED DGO
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Match the List — | with List - Il. Choose the correct answer from the codes

given below:
800 e O )0G:
List-1 List -1l
e )e - | e - |
a. Social investigation report . Medical social work
7228 HBTER VRO S5 228 HA

b. Discharge planning

ii. Child guidance centre

56530 (e P 200 3rdc6% 3010

¢. Workmen’'s compensation lii. Probation
567500 HBFE0 OIS

d. Behavioural problems Iv. Social security
(26900° ReRFEN WA (A,

Codes:

gGen:

Options :

a-iii, b-i, c-iv, dii
1.¢

a-i, b-iv, ci, d-ii

2. %

o % aiv, beiii, ciii, d
a-i, b-ii, cdii, d-iv

4. %
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Which one of the following is not necessary for project formulation?
B8 B §00 808 73S DO 95330 BE?

Options :

Setting objectives and targets
O OGN 575> JVF0TIo

1. %

Design of strategies
, % SD500°0 Q0BOS))

|dentification of potential obstacles
SR CTARN] 29C30300>D MHO0TI0

Documentation
" 350500 BIND
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FCRA stands for
FCRA @0

Options :



Foreign Contribution (Rules) Act
DBP DeFFE0 (DADSTEN) IO

Foreign Contribution (Regulation) Act

2 S}E}S‘% N silele (Q(mOL@EE}) ﬂ“ﬁ@@

Federal Contribution (Regulation) Act.
L DGO 803237750 (QADO(EED) HEO.

None of the above
2a6) B%Y
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Match items in List — | with List - Il and choose the correct answer from the codes
given below:
20 - 18 o)E - 150 @oTOR) 108 HBAD AN B 1A

S50 0B OB TR, DOt 0:

List - | (Method) List - Il (Technique)
20 - (IQe3) e -1l (B8)5)
a.  Social case work . Funnelling
APTE B ) 331005
b.  Social group work ii.  Gherao
TPIT238 oTar ) ENON
¢.  Community organisation lii.  Person situation configuration
E50rees SUTEAS 58 HOS TAYOAS
d.  Social action iv.  Norming and storming
xS w0s P08 B0 AT
Codes:
&§Gew:
Options :
a-ii, b-iv, c-iii, d-i
1. %

a-iii, b-iv, c-, d-ii

2.

a-i, b-ili, c-iv, d-ii
3. %
. a-iv, b-ii, c-ii, d-i
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Which one of the following is not a treatment group?
806 ¢3S DA D&Y DT SN 7?

Options :

Growth group

- DD DeNTT0

Socialisation group
P0an8EBE DT 0
2. %

Educational group

TR AN e
3. %

Study team

DIAI{OWIN AR TaTe
4.9
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Match the List - | with List - Il. Choose the correct answer from the codes
given below:

20 - 159 @oFon T - 169 @oTod HBFe 106 B
B 26552330 §GO (D0 B NSTTIN), DOTNE0E:

List - | (Author) List - Il (Method/approach)
28)e - | (Grdoned) 27 - | (HQSTNO)
a.  Octavia Hill . Problem solving approach
eSS0SF 57 608 3BT 8 D0
b.  Murry G. Ross i. Social group work
00 2. 0% Ra228 T 2
¢.  H.H.Perlman il Community organisation
HH. 20:m E5mERES 0w
d.  GiselaKonopka V. Housing reforms
FRer S, 00 Do) Oeaen
Codes:
§Gen:
Options:

a-ii, b-iii, c-iv, d-i

1. %
, &, b-iv, c-i, d-ii
a-iv, b-ii, c-i, d-ii
3. v
a-i, b-ii, cHii, d-iv
4. %
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Objectivity in research means the willingness and ability to examine evidence
dispassionately is called

SBET DBFEIS 0T /FEEOM ATRTIFE0T HEFO0T e
SO0 DT, e DTS

Options :

espiﬁrit de corps of the scientific method
B ROD NP3 ABNEY DB & 5°0)))

cours de philosophic of the scientific method
FLOD DO TINE), e 7 T jen

la carriere of the scientific method
FLROD DO By, S56AHD

sine qua non of the scientific method

4 DOEDE HQE 5N
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In participatory development, people’s participation is
2 5005 €92)59DEY, (B 2P N0 DEF EOENOE

Options :



an end, not just a means to development
2,8 0RO, @2)HID8 N0 75 57N

1. %

only a means to development
292998 2,8 N0 A e

neither an end nor a means to development
292359 B8 SSMA0N) BET® 0 52N

only a means not an end to development

4 292)039 28 9050 5D
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If the client persists in verbal attacks, the technique used is
E00E) e TGS FSTAS, GHAFA0D D

Options :

Confrontation
Qe

1. %

Scanning

. .00



Fogging
arioh

3. ¢

Explaining

o800
4, %
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‘Power’ is gained whereas ‘authority’ is
38 ©2)D0A ©oNSd 9O SO0

Options :

acquired
PO

possessed
Ef

imposed
DOV GBOE

nested
S3°chd §e305
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Read the passage given below and answer the following questions as per the
understanding of the passage (Question Nos. 1460 150)

18029 @6 50080 725 Q L0 BN (33805890 TG, ST (3550 (B0
) O8) PTIN0 B 06 (033), 0.148:0063150 )

History has led to vast inequalities, leaving almost three-fourths of the world's
people living in less-developed countries and one fifth below the poverty line. The long-
term impact of past industrialization, exploitation and environmental damage cannot be
wished away. It is only right that development in this new century be even more conscious
of its long-term impact. The problems are complex and the choices difficult. Our common
future can only be achieved with a better understanding of our common concerns and
shared responsibilities.

Poverty and a degraded environment are closely inter-related, especially where
people depend for their livelihoods primarily on the natural resource base of their
immediate environment. Restoring natural systems and improving natural resource
management practices at the grassroots level are central to a strategy to eliminate
poverty.

The survival needs of the poor force them to continue to degrade an already
degraded environment. Removal of poverty is therefore a prerequisite for the protection
of the environment. Poverty magnifies the problem of hunger and malnutrition. The
problem is further compounded by the inequitable access of the poor to the food that is
available. It is therefore necessary to strengthen the public distribution system to
overcome this inequity. Diversion of common and marginal lands to ‘economically useful
purposes’ deprives the poor of a resource base which has fraditionally met many of their
sustenance needs.

Literacy and a basic education are essential for enabling the poor to access the
benefits offered by development initiatives and market opportunities. Basic education is
therefore a precondition for sustainable development. A sizeable proportion (about 60
percent according to some estimates) of the population is not integrated into the market
economy. Ensuring the security of their livelihoods is an imperative for sustainable
development.



In several areas, desirable limits and standards for consumption need to be

established and applied through appropriate mechanisms including education, incentives
and legislation.
Several traditional practices that are sustainable and environment friendly continue to be
a regular part of the lives of people in developing countries. It is therefore important to
evaluate and make development decisions which structurally lead to a more sustainable
society.
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How can we achieve our common future in a sustainable development
framework?
BB DS3HD IO S0 oIt BV NP FPAOTIS)?
(i) Understanding the long term impact of past industrialization.
(65 OFa 8 gy A5O8 e @90 TNESHO.
(if) Preventing environmental damage.
D0%IOE) L) V80TS0,
(ili) Understanding common concerns and shared responsibilities.
TTOE) BOEHS) OO 2FHRr S 250 880 TS0

Options :

(i) and (ii) are correct
(i) 0B (i) OB )

(ii) and (iii) are correct
(i) 20BO3W (iii) DT

2.
(iii) and (i) are correct
(iii) 20O (i) OB )
3. %

(i), (ii) and (iii) are correct
(i), (ii) SO (iii) DB

4.+
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What are central to a strategy to eliminate poverty and thereby ensuring

sustainable development?
i}tﬁ@?&? AETIO0BERE OO S 50° VI @929 OE o B3
SJETOES [DTRIN ades?

Options :

Industrialization
OB N8ESE

Exploitation of National Resources
5 % 252303 SO B

Restoring Natural Systems

, O 33590 2RO 0
3.4

Encouraging Market Economy

o3°0€0 €308 635090 (851300
4. %
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How does the survival needs of poor people affect sustainable development?
26 (226 a0 90700 VST BBV e 2T TDoN?

Options :

Diversion of common and marginal lands to economically useful
purposes.

DGO DOAIN L0 Zrainedrs S0 s HEIFD
1. % i;JC_L")T?SKT“P_}éWJ gl)‘%j(:)i‘][f’g@_

™~

Poverty magnifies the problem of hunger and malnutrition.
2065080 €350 DB FATHIES 00 DeDE DOTHEROA.

Continue to degraded the already degraded environment
20635 8300 HT73BETR) @EE580 DONGE0 Sdriodod

None of the above
RSy
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What are essentials for enabling the poor to access the benefits offered by development
initiatives and market opportunities?

292)s99® SO 530 DO 70)E WITTE) 50 N ©OB0T
DOFETON SPOBONF) WIIGBI ades?

() Ensuring security of livelihoods

B3SO 29 EOy0t¢%0
(i) Improving literacy and basic education
98 00568 DOOM (oD 5D A0
(i)  Encouraging unsustainable patterns of consumption
ROZEBR VAT DT (8eh)ar0is0
(iv)  Increasing purchasing power
Faien 482 200

Options :

(i), (ii) and (iii) are correct
), (i) c208a (jii) OB edad

|
1. %

(i), (ii) and (iv) are correct
) (i), (i) cBCM (iv) OB
2. >

(i), (iii) and (iv) are correct
(ii), (iii) S0OC (iv) QT o)
3. %

(iii), (iv) and (i) are correct
(i), (iv) o0OC (i) OB
4, %
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What needs to be encouraged to ensure sustainable development?
VI ©92)IYAR AT OOIERE o |86 Yor0we)?

Options :

Market driven technology
700 e353°06% rOTe3seh

1. %

Environment friendly traditional practices

. DT5985Ed ©90E7°) DOINTA DDEBEN
2.

Consumption oriented economy
- D3 850 ¢h 308 65560

All the above
QY

4, ®



